Unit 8 Day 5 Notes on Quadratics: Standard Form, End Behavior, Increasing and Decreasing Y

Let’s start with a vocab recap:
Name the key components of the Quadratic below:
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How do we find the y-intercept of a quadratic? L.
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Find the y-intercept of
a) y=2x"+12x+3 b) y=2(x-3) -2
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How do we find the vertex of a quadratic if it is not in Vertex Form?

y=ax’+bx+

For reason we will discuss later the formula is:

What about the y-coordinate?
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Find the Vertex of y =2x*+12x+3.
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Find the Axis of Symmetry 'of y=2x"+12x+3
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In summary, if a quadratic is in Standard form:

y=ax’+bx+c
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End Behavior:

Describe the end behavior of y =2x"-3x+1 — 6P€N€ uf v

As x >, y— OO

As x > -0, y—> oO

Increasing vs Decreasing
What does increasing mean? What does decreasing mean?
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On what interval is y = x*—6x+1 increasing?
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We’ve graphed when the quadratic is in vertex form, but what if it is in standard form?

Graph using 5 points (vertex, y-int, symmetric pt, random, symmetric pt)
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Random pt:
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You try:

Graph using 5 points _
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Y= x*+4x-1
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Vertex: (' -2 ! -
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